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QUESTION 1

Which three database objects can have columns stored in the In-Memory (IM) column store? (Choose three.)
A. subpartitions

B. clustered tables

C. materialized views

D. index-organized tables

E. heap tables

F. any SYS owned objects

Correct Answer: BDF

Reference: https://docs.oracle.com/en/database/oracle/oracle-database/12.2/inmem/populating-objects-
inmemory.htmi#GUID-5D4B2A1F-815F-4FDC-91F8- ESCF7179985B

QUESTION 2

You plan to execute this command:

CREATZ TABLE sales

(prod id NUMBER (3) ,
annual sale amt NUMBER (10, 2},
country VARCHERZ (4),
channel VARCHERZ (1)

)
PARTITION BY LIST (country, channel)
(PAETITION pl VALUES ((‘USAf, ‘DO"), ([(‘CA', ‘D'}),

PARTITION p2 VALUES ((‘wsa', *‘I1I'), ('CAf, *17))

Which statement is true and why?

A. It creates partitions P1 and P2 where COUNTRY is a single column partition key and CHANNEL is a subpartition

key.

B. It returns an error because only one set of multiple values can be specified for each partition.
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C. It returns an error because only a single column key can be used for a list-partitioned table.
D. It returns an error because the AUTOMATIC option must be specified.
E. It creates partitions P1 and P2 where COUNTRY and CHANNEL are multi-column partition keys.

Correct Answer: E

QUESTION 3

Which two statements are true about clean restore points in a regular PDB? (Choose two.)
A. They require a clone instance to be created when used in a PDB flashback operation

B. They can be created for a PDB when connected to either the PDB or to the root

C. They require backups to be restored when used in a PDB flashback operation

D. They are created as guaranteed restore points

E. They can be created only if shared undo is enabled

F. They can be created only for a PDB in the mount state

Correct Answer: EF

Reference: https://docs.oracle.com/en/database/oracle/oracle-database/12.2/bradv/using-flasbackdatabase-restore-
points.html

QUESTION 4

Which three statements are true about the SQL Performance Analyzer? (Choose three.)

A. It recommends the use of SQL Tuning Advisor for regressed SQL statements.

B. It recommends the creation of indexes for regressed SQL statements.

C. It compares and analyzes execution plans for the SQL statements in a SQL Tuning Set (STS).
D. It always executes triggers that are fired recursively in FULLDML mode.

E. It generates execution plans for each SQL statement in an STS.

Correct Answer: ACE

Reference: https://docs.oracle.com/cd/B19306_01/server.102/e12024/spa.htm

QUESTION 5

In which two situations does the INHERIT ANY PRIVILIGES privilege regulate the privileges used?
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A. when a user creates a new user

B. when a user performs a GRANT or REVOKE operation

C. when a user queries a BEQUEATH CURRENT_USER view that references an invoker\\'s right procedure
D. when a user runs a procedure created with invoker\\'s right

E. when a user runs a procedure created with definer\\'s right

Correct Answer: CD

Reference: https://docs.oracle.com/database/121/DBSEG/dr_ir.htm#DBSEG661
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